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1 |deiEE 3.3E+3 3,333.0
2 |BEHRE 3.4E+3 34440
3 |BFE 1.2E+2 120.0
4 |EHE 1.9E+2 186.0
5 |fKEE 4.2E+1 420
6 [LzE 1.1E+2 114.0
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8 |ZimE 2.0E+3 2,025.0
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14 |#BE)IE 3.3E+2 333.0
15 |[FiRE 1.3E+2 126.0
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17 |RJIE 1.1E+2 108.0
18 [fBHIE 1.1E+2 105.0
19 [IURE 9.0E+0 9.0
20 |REFER 1.4E+2 1440
21 [IFBR 1.6E+2 156.0
22 |FRRER 5.5E+2 546.0
23 |BEHR 4.9E+2 486.0
24 |=ZE] 5.7E+1 57.0
25 [HER 1.8E+1 18.0
26 |TREDAT 2.7E+1 27.0
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29 |ZBE 3.0E+0 3.0
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34 |LER 1.3E+2 129.0
35 [lLOg 1.8E+1 18.0
36 |[RER 2.7E+1 27.0
37 [BINE 3.0E+0 3.0
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39 |EsE 5.9E+2 585.0
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45 |EZIFE 2.2E+3 2,190.0
46 |[ERER 1.1E+3 1,113.0
47 [HhiER 2.4E+1 24.0
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